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問題 1(各 5点) 
次のε-動作を含む NFAと等価な DFAを求めよ。 
a) ({p, q, r, s}, {0, 1}, δ, p, {s}) 

 ここで、δは下表  
 0 1 ε 

p q, s q, r - 
q r q p 
r s p q, s 
s - p - 

b) ({p, q, r, s}, {0, 1}, δ, p, {s}) 
 ここで、δは下表  

 0 1 ε 
p r q, r s 
q s q p,r 
r s r - 
s - r q 
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b) 
 
 
 
 
 

 ε-CLOSURE 
p p 
q p, q 
r p, q, r, s 
s s 

 0 1 
→p p, q, s p, q, r, s 
q p, q, r, s p, q, r, s 
r p, q, r, s p, q, r, s 
*s - p 

 0 1 
→[p] [p, q, s] [p, q, r, s] 

*[p, q, s] [p, q, r, s] [p, q, r, s] 
*[p, q, r, s] [p, q, r, s] [p, q, r, s] 

 ε-CLOSURE 
p p, q, r, s 
q p, q, r, s 
r r 
s p, q, r, s 

 0 1 
→*p p, q, r, s p, q, r, s 

q p, q, r, s p, q, r, s 
r p, q, r, s r 
*s p, q, r, s  p, q, r, s 

 0 1 
→*[p] [p, q, r, s] [p, q, r, s] 

*[p, q, r, s] [p, q, r, s] [p, q, r, s] 


